Year 2 Fractions - Maths Day 7 							23.6.2020  
Please look through the powerpoint to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
The shapes must be cut into equal parts to be unit fractions as well so do not forget it that!
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Reasoning
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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Super Challenge (Optional): 
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Answers: On the next page so please DO NOT look until you have finished your work first.
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